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1. Which of the pieces shown would complete the pattern?
Molo oo Ta MAPAKATW KOUUATLO GUUTITANPWVOUV TNV ELKOVQ;

{A]jiglE |{'B]|§><§ ((.“;X [D)><>< {EJ<>O

2. Anna has built a wall that displays the year 2025. Maria stands on the other side of the
wall. What does Maria see? @
H Avva €xtioe €va tolyo mou armeikovilel Tnv xpovid 2025. H Mapia otéketal and tnv
AGAAN mMAgupd tou toixou. Tt kottdlel n Mapio;

=L W A5
(D) % (E) %

3. Mike has a leaflet with numbers and holes in the flaps on both sides, as shown in
the picture. He folds the right flap along the dotted line and sees the numbers 2, 3,
5 and 6 through the holes. Then he folds the left flap along the other dotted line.

What is the sum of the numbers he sees now? E]i 4192 ED

O MudAnc éxel éva dpulNadLlo pe aplBpolg Kot TPUTIEG OTIC MTUXEC Kal oTlg Suo DD: 315 : [j [:]
TAELPEG, OMwC dalvetal oTNV Kova. AUTAWVEL TN Se€Ld MTUXN KATA HNKOG TNG ; :
SLOKEKOUMEVNC YPOUUNG KoL BAEMEeL Toug aplBuoug 2, 3, 5 kal 6 péoa amod TLG GE 8116 ED

TPUMEC. 3TN OUVEXELD, OSUTAWVEL TNV APLOTEPN TITUXH KATA MAKOC TNG AAANG
SLOKEKOUUEVNC YPOUUAG. MoLo gival To dBpolopa Twy aplBpwy mou PAENEL Twpa;

(A) 10 (B) 12 (C) 14 (D)9 (E) 8

4. Acubeis decorated by gluing identical grey squares on it. All faces of the cube look the same. How many
grey squares are there in total?
‘Evag kUPBog dlakoopeital KOAWVTAG TIOVOROLOTUTIA YKPL TETPAYWVA TTAVW Tou. OAEC oL MAEUPEC TOU
KUBou daivovtal idLeg. Mooa yKpL TETPAYWVA UTIAPXOUV GUVOALKA;
(A) 30 (B) 18 (C)16 (D) 15 (E) 14

5. Emily put slices of tomato, black olives, chillis, mushrooms and onion rings on top of a pizza,
but not necessarily in that order. She only put one ingredient at a time. Her finished the pizza
is shown in the picture. Which was the third topping she put on the pizza?

H EQAL €Bale dETEC VIOMATAG, HOUPEG €ALEG, TUTMEPLEG TOIAL, Havitdpla kal Saxtulidia
KPEUUUSLOU TTAvw otnyv Ttitoa, aAAd OxL amapaitnta pe auth th ospd. ERale povo £va UAKO
KaBe popd. H ohokAnpwpévn mitoa tne daivetal otnv elkova. Moo Atav To TPito VALK oy
£BaAe MAvw otnv Titoo;

(A) tomato slices / dpéteg vtopdrag ‘

(B) black olives / patpeg eAtég ®
(C) Chillis / muteptéc Toill Qs
(D) Mushrooms / pavitapia ar

(E) Onion rings / oxtuAidia kpeppLSLOU @
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6. Container A holds 10 litres of water. All five plugs at the bottom of a container A are
taken out at the same time and the water flows out. What volume of water flows into
container B?

To Soyeio A mepiéxel 10 Aitpa vepo. Kat oL MEVTE TATECG OTO KATW PEPOG Tou Soxeiou A

| 4
adatpolvTaL TAUTOXPOVA KaL TO VEPO TPEXEL £EW. TL OYKOG VEPOU TPEXEL oTo SoXElLO B; ’J
B

(A) 3 litres / 3 Aitpa (B) 4 litres / 4 Aitpa (C) 5 litres / 5 Aitpa
(D) 6 litres / 6 Aitpa (E) 8 litres / 8 Aitpa

7. Thea rotates a piece of paper divided into six equal parts. When the paper is

rotated, it is turned clockwise one part. The original sheet of paper and the
result of one rotation are shown in the diagram. What does the sheet of O
paper look like after a total of eight rotations? —_

H ©¢a neplotpédel Eva KOUUATL XapTti Ywplopévo o £EL loa pépn. Otav To start
Xaptl meplotpedetal, yupvael deflootpoda Katd £va PEPOG. To ApXLKO apxn
dUAO YopTIOU Kol TO QmOTEAECHA MLOC Tieplotpodng daivovral oto
Saypappoa. NMwg Ba daivetal To GUALO XapTLOU HETA OItd CUVOALKA OKTW
TEPLOTPOPEG;

N D L B

8. The menu of my favourite burger restaurant is written on a board. However, the
rain has washed away some of the numbers. The burgers are ordered by price.
Which of the following is the price of one of my burgers?

To EVOU TOU ayartnUEVOU LOU ECTLATOPIOU LE UTIEPYKEP ELVOL YPAUUEVO OE EVaY ; l::tz
ntiivaka. Qotooo, n Bpoxn £XxeL oBNOEL LePLKOUG Ao Toug aplBuolc. Ta Umépykep cheesycon
elval katoywpnuéva KaTa oslpd TIUAG. Mola amd TIC MapakATw eival n T evog double
oo T UIEPYKEP HOU;

(A) 4.10 (B) 5.50 (C) 5.60 (D) 6.30 (E) 6.60

9. Six children took part in a race.
Ariadne finished in the third place. Maria finished sixth, just behind Elena. Fanos finished between Ariadne
and Elena. Dimitra overtook Christos right before the finish line. Who won the race?

‘EEL maudLd ouppetelyav og €vav aywva.

H Apladvn tepudtioe otnv tpitn 6€on. H Mapia tepudtioe €k, akplBwg nicw amd tnv EAévn. O Oavog
TEPUATLOE PETAED TNG Apladvng kat tng EAEvng. H Afuntpa npoomépaae Tov Xprioto Alyo TpLv ToV TEPUATIONO.
Molog kEPSLoE ToV aywva;

(A) Ariadne / Apladvn (B) Christos / Xprjotog (C) Dimitra / Afuntpa

(D) Elena / EAévn (E) Fanos / ®avog

10. A bookshelf with three shelves has 17 books on the top shelf, 15 books on the middle
shelf and 7 books on the bottom shelf. Monika wants all shelves to have the same HHHHHH HHHHHH HHHHH
number of books on. She also wants to move as few books as possible. How many = —____—
books should she move from the middle shelf to the bottom shelf?

Mua BLBAL0OAKN pe Ttpla padra £xel 17 BLBAla oto emdvw padt, 15 BBAla oto pecaio HH H H H H H
padt kot 7 BPAla oto katw pdadt. H Movika BAel dha ta padla va £xouv Tov (Slo

oplOud BLBAiwv. OfAeL emiong va HETAKLVAOEL 6000 To Suvatov Alyotepa BLBAla. Mooa

BBAla ipémel vo LETAKIVAOEL aTtd TO pecaio padlL oTo KATw pady;

(A) 1 (B) 2 ()3 (D) 4 (E) 5
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11.

12.

13.

14.

15.

Three turtles participate in a 10-kilometre race. Each of them moves at a constant speed. When the first turtle
finishes, the second turtle has covered % of the distance, and the third turtle has covered % of the distance.
How far from the finish line will the third turtle be when the second turtle finishes?

Tpelg XeEAWVEG CUUUETEXOUV O€ €vav aywva 10 xAlopétpwy. KaBepla kiwveital pe otabepn tayxvtnta. Otav n
npwtn xeAwva tepuatilel, n deltepn €xel SlavuoeL To i NG amootaong Kal n tpitn to %an anootaong.
MNooo poKpLd anod T Ypapun TEpUaTopol Ba gival n tpitn xeAwva otav n SeUTepn TEPUATIOEL;

(A) 1 km/xA\6peTpPO (B) 2 km/x\1opeTpa (C) 3 km/x\OpeTPQL
(D) 4 km/x\OpeTpaL (E) 5 km/x\dpetpa

Verra has built a tower of blocks. She wants to replace the two blocks with the question marks on
with two blocks with numbers on. She wants the number on each block in her tower to be at least 2
more than the number on the block below it. In how many ways can Vera do this?

H Bépa €xel pTiael évav Upyo amd TouPAdakia. OEAEL va OVTLIKOTAOTAOEL Ta SU0 TOUBAGKLA e T
EPWTNUATIKA He SUO TOUPBAAKLA TIOU €xouv aplOUoUC. OéAel o aplBuog os kABe TouPAdkL Tou
TUPYOU TNC VA €lval TOUAGXLOTOV KaTd 2 HeyaAUTEPOC Ao Tov aplBuod oto TouBAdKL and Katw. Me
TOO0UC TPOTOUG UTTOPEL val TO KAVEL aUTO N Bépa;

(A) 3 (B) 4 ()5 (D)6 (E)7

(~fefofl={=]

The picture shows five wheels of fortune. Each wheel is divided into a different number of identical parts. You
will win a prize when the wheel is spun and then stops with the triangle above the wheel pointing to a part
that is shaded. Which wheel gives you the best chance of winning?

H ewdva Seiyvel mévie Tpoxolg tng TUXNG. KaBe tpoyxog eival xwplopévog os SladopeTikd aplBuod iowv
TUnUAaTwv. Kepbilete £va BpaBeio 6Tav 0 TPOXOG YUPLOEL KOL GTAUATHOEL LLE TO TPIYyWVO TAVW OO TOV TPOXO
va Selyvel £va oKLOoPEVO TUAMA. Molog Tpoxog oag Sivel TNV KaAUtepn TBavotnta va KepSIoEeTs;

1

(3]

(A) 1 (B) 2 (€3 (D)4 (E)5

Which shape or any rotation of the shape, cannot be placed onto the white parts of the large square?
Moto oxnua, i omoladnmoTte eplotpodn Tou oxAuatoc, Sev umopel va tonoBetnBel ota AsUKA pPépn
TOU HEYAAOU TETPAYWVOU;

-
ST T
(A) L (B) (C) (D) Ll (E) ||

My school’s swimming team is practising for a relay competition. Five swimmers swam the same distance,
one after the other. The pictures below show the times on their coach’s stopwatch when each swimmer had
finished their leg. The first swimmer needed 2 minutes and 8 seconds. Which on of the swimmers needed the
least time?

H opdada KoAUUBNoNG Tou oXOAElOU HOU TTPOTIOVELTAL YLa €vav aywva okutalodpoplag. Névie KOAUUPNTES
KOAUUTnoav tnv (6la amootaoh, 0 €vag UETA tov AAAov. OL €LKOVEG TOPOKATW SELXVOUV TIC WPEC OTO
XPOVOLETPO TOU TIPOTIOVNTH TOUG OTAV 0 KABE KOAUUPBNTAG OAOKANPWOE TOo 0KEAOC Tou. O PWTOG KOAUPBNTAG
Xpelaotnke 2 Aemtd kal 8 SeutepoAenta. Molog arnod Toug KOAUUPBNTEG XPELAOTNKE TOV AlyOTEPO XPOVO;

(A) the 1°t/0 1° (B) the 2"/0 2°¢ (C) the 3/0 3° (D) the 4t/o 4°¢ (E) the 5%/o 5°¢
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16.

17.

18.

19.

20.

Yianna cuts four identical squares from the corners of a square sheet of paper,
as shown. The total area she cut off is 16 cm? and the area of the cross that
remains is 9 cm?2. What is the perimeter of the cross in cm?

H MNavva koBel T€ooepa OpOLA TETPAYWVA Ao TIG YWVIeG EVOC TETpAYWVLKOU
dUMoU xaptTiol, Onwg ¢aivetal otnv €lkova. H ouvoAlkny emupavela mou
KOTINKe gival 16 cm? kal n empAveLa TOU 0TaUPoU TIOU TIOPAUEVEL Eivat 9 cm?,
Mola gival n mepileTpog Tou oTaupPoU O cm;

(A)9 (B) 16 (C) 20 (D) 25 (E) 32

Each of the cards shown below have two 3-digit numbers written on them, but some of the digits cannot be
seen as they are covered in ink. On one of the cards, the sum of the digits of both numbers is the same. On
which card are those two numbers?

KaBe pia amo tig kapteg mou dpaivovral mapakdtw £xel Vo TpuPpridloug aplBuol g ypaupévous, aAAd KamoLo
ano ta Pndia dev eival opatd eneldy KAAUTTOVTAL PE HEAQVL. Z€ pla amod TIG KAPTEG, TO ABpoloud TwvV
Pnoiwv kat twv Suo aplBuwv eival to idlo. e mola kapta Bplokovtal autoi ol SUo aplbuoi;

», (343 and 110 1) 588and 110 | 982 and 101§
D) [211 and 6.'J E®) [ 777 and 2"]

The shape in the diagram is made of identical squares. Point B is halfway between points
A and C. Also, point D is halfway between points C and E. Maria wants to divide the shape
into two parts of equal area. Which of the points A, B, C, D or E should she connect with
a straight line to point S to do this?

To oxnua oto Staypappa eival ptiaypévo amod opola tetpdywva. To onueio B eival otn
péon petafd twv onpeiwyv A kat C. Emtiong, To onpeio D gival otn péon petall Twv
onpeiwv C kal E. H Mapia B€AeL va Slalpéoel to oxnpa os dUo pépn pe toa epfada. Me

waod

moto amod ta onpueia A, B, C, D i E mpémel va cuvS£oel pe euBeia ypappn to onpeio S yla

Va TO TIETUXEL AUTO; g
(A) A (B)B (c)c (D) D (E)E

Harry wants to write a 0 or a 1 in each cell of the diagram so that the sum of the numbers in
each row, column and diagonal is 3. He has already written a 0 in one of the cells. When he

finishes, what will the sum of the numbers in the cells shown with a question mark be? 0

O Xapng BéAeL va ypaget éva 0 1 éva 1 oe kABe keAl Tou SLaypAUUATOC, £TOL WOTE TO

. , . ., ) : j ! , , ? ?
aBpolopa Twv aplBpwv og KABe ypauun, otnAn kot Staywvio va eivat 3. ExeL nén ypael Eva

0 o€ €éva and ta keAld. Otav teAelwoel, molo Ba elval o GBpolopa Twv apLBPWY oTa KEALA ?

mou dailvovtal e EPWTNLATLKO;

(A)1 (B) 2 ()3

(D)4 (E) it cannot be calculated. / Aev pumopel va urtoAoyLoTel.

Maria and Petros each wrote down three 3-digit numbers using

the digits 1 to 9 exactly once. Then they ordered their numbers l 3993 l 487] l 516 l

as smallest, middle and largest. Maria wrote down the largest av :

possible value the middle number could have. Peter wrote down smallest middle largest

the smallest possible value the middle number could have. What Mikpotepog Meoaio¢ MeyaAutepog
is the difference between their two middle numbers?

H Mopia kat o Nétpog éypadav o kabévac Tpelg aplBpolg tpupndiwy xpnowonowwvrtag ta Pndia and to 1
£W¢ T0 9 akplBwe pic popd. ITn CUVEXELR, TOUG TAKTOMOLNOAV WE UKPOTEPO, eSO Kal peyaAltepo. H
Mapia éypae Tn peyaAltepn duvarth T TIOU Utopoloe va €xeL 0 pecaiog aplOudc. O Métpog éypade v
MLKpOTEPN SuvaTh TIUA TIOU UMoPoUCE va £XEL 0 Hedaiog aplBudc. Mola eival n dtadopd HeTaly Twv dUo
pecailwy aplBpwyY Toug;

(A) 642 (B) 684 (C) 846 (D) 888

(E) none of the previous/kavéva amnd ta mponyoueva
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21.

22.

23.

24.

25.

A witch had 10 apples, 9 bananas and 6 pears. One day she performed some

magic and turned each of her pieces of fruit into one of the other two types. For before NPIN
example, she changed each apple into either a banana or a pear. She now has 15
apples, 7 bananas and 3 pears. How many apples did she change into a banana? 10 5 :

Mia paylooa €ixe 10 pnAa, 9 pmavaveg kot 6 ayxAadio. Mia pépa €kave Alyn

payeia kal petétpee KABe éva amo ta GpouTa TNG o€ EVav A0 TOUG AAAOUC after

SUo tumougc. MNa napadelyua, HeTeTpePe kKABe puNAo eite oe pmavava eite oe

axAadL Twpa €xel 15 pnAa, 7 prmavaveg kat 3 axAadia. Mooa pnAa petétpee o éJ 6 META
15 7 3

UTTAVAVEC;
(A)3 (B) 4 (€)5 (D)6 (E)7

The side-length of the square shown in the diagram is 10 cm. the line down in the middle of the
square divides it into two equal rectangles. What is the area of the shaded region?

To UNRKOG TNG TAEUPAG TOU TETPOYWVOU TIoU daivetal oto Sdtaypappa eivat 10 cm. H ypoupr mou
Bploketal otn péon Tou teTpaywvou to Slatpet og dUo ioa opBoywvia. Moto eivat To epPadov
NG OKLAOLEVNG TIEPLOXNG;

(A) 12.5 cm? (B) 25 cm? (C) 30 cm? (D) 40 cm? (E) 50 cm?

Joanna divides the figure shown into five equally shaped parts, each consisting of three squares. A ‘
The square containing which letter is in the same part as the square marked with a star? Bl C

H lwavva Slatpei to oxnuo mou daivetal os MEVIE loa LépN, To KaBEva amod ta onoia amoteAeital

oanod tpia teTpdywva. Molo TETPAYWVO TIOU TIEPLEXEL YpAUUa BplokeTal oto 8lo PEpPOG e TO D E
TETPAYWVO TOU €lval onpaSEUEVO e OOTEPLOKO;

(A) A (B)B (©)cC (D)D (E)E

Fanos never tell the truth on Tuesdays, Thursdays and Saturdays. He always tells the truth on the other four
days. One day Markos had the following conversation with Fanos:

Markos: “What day is today?”

Fanos: “Saturday”

Markos: “What day will be tomorrow?”

Fanos: “Wednesday”

On which day did this conversation take place?

O @avog dev AéeL moté tnv aAnBela Tig Tpiteg, Méumteg kat Tappata. Agsl mavta TNV aAnOeLa TIG UTTOAOUTEG
T€00oepLS PEPEC. Mua pépa, o Mapkog eixe tnv £€n¢ ouvopAia pe tov avo:

Mapkoc: «Mola pépa eivat onpepa;»

davog: «Zappato»

Mapkoc: «Mota pépa Ba eivat alpLo;»

davog: «Tetdptn»

Mola pépa €yLve auTh N cuvoutAia;

(A) Monday / Aeutépa (B) Tuesday / Tpitn (C) Wednesday / Tetdaptn
(D) Thursday / MNéumtn (E) Friday / Mapaokeun

Thomas wants to construct this cross shape shown in the picture using pieces shaped like
the ones below the cross. He has many copies of each piece and knows he can rotate them
if needed. The pieces must not overlap. What is the smallest number of pieces he could
use to construct the shape?

O OwuAg BEAEL va KOTOOKEUAOEL TO OXNHO TOU OTAUPOU TIoU ¢aiveTal OTnV £lKOVA
XPNOLLOTIOLWVTAC KOLMATLO TIOU £€X0UV TO OXNALA TWV KOUUATLWV KATW Ao To oTaupo. Exel
TOAEG pwToTuTieg amd KABe KOUMATL Kal EEPeL OTL MMOPEL va Ta TeploTpEPeL av
xpelaotel. Ta koppdtia Sev mpénel va emikaAUTTovTaL. Molog elval 0 UIKPOTEPOC apLOLOG
KOMUOTLWY TIou Ba urmopoloe va XpnoLLOTIOLNOEL YO VO KOTOLOKEUAOEL TO OXNUQ;

(A) 11 (B) 12 (C) 13 (D) 15 (E) 17
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26. Some blocks are balanced on top of each other, as shown. Blocks that are shaded
in the same way have the same weight. Sara wants to order the three different E

27.

28.

29.

30.

types of square block from heaviest to lightest. What order should Sara obtain? E
Mepikd touBAGKLA gival LooppoTtNUEVA TO £val TTAVW O0TO GAAO, OTwG daivetal. Ta | ‘
ToUBAAKLA TTIOU €lval OKLOOPEVA LE TOV (6Llo TPOTOo €xouv To 610 Bapog. H Zdapa

B£AEL va TOKTOTIOLOEL TA TPl SLAPOPETIKA €16 TETPAYWVIKWY TOUBAOKIWV oo ‘
T0 Baputepo oto eAadplTepo. Mola OELPA TIPETEL va. 0KOAOUBNROEL N 2apa;;

o~ X o X o FEXM
o) EE X v XIE

Elena wants to write the numbers from 1 to 9 into the squares in the diagram, with
one number in each square. She wants the sum of the numbers in any two adjacent
squares to be equal to the number shown on the line joining these squares. What
is the sum of the numbers she writes in the shaded row?

H EAéva B€AelL va ypael Toug aptBpolg anod to 1 péxpL To 9 ota TETPAYWVA TOU
SlaypAppotog, He €vav aplBpd oe kABe tetpdywvo. OEAeL To dBpolopa Twv
oplBuwv og omoladnmote SU0 YELTOVIKA TETPAYWVA VA Elval (00 e Tov aplOud mou
daivetal otn ypappr mou cuVvEEEL AUTA Ta TETpAywva. MNolo ival To aBpolopa Twv
0pLBUWV IOV YPAdEL OTNV OKLAGUEVN YPAUURA;

(A) 16 (B) 17 (C) 18 (D) 20 (E) 21

Timos combines the three building blocks shown on the right. Which of the following

constructions could he make? @ @ E@
O Tipog ouvdualel ta Tpia olkoSoukd TouBAdkLa ou daivovtatl Se€ld. Mola amod Tig

TIAPOAKATW KATOOKEUEG Bal prmopoloe va SnULoUpYNoEL;

(A) @ (B) @C) %}3) @ (E) %

Sara had three times as many chocolates as Suzy. Sara then gave a quarter of her chocolates to Suzy. Sara now
has six more chocolates than Suzy. How many more chocolates than Suzy did Sara have originally?

H Zapa eixe tputhdolo aplBpd cokoAatwv amod tn 2oUln. Itn CUVEXELD, N Zapa £6WOE To £va TETAPTO TWV
COKOAATWYV TNC 0TN ZoUTN. Twpa N Zapa £XeL €€L TTEPLOCOTEPEC GOKOAATEG Ao Tt 2oUIn. MNO0oeg MePLOCOTEPEC
OOKOAATEG £ixe N 2apa amo tn 2ouln opXLKE;

(A) 36 (B) 30 (C) 27 (D) 24 (E) 20

Zeta wants to buy some flowers. The prices of the three flowers she can buy are shown in

the picture. How many different bouquets with a total cost of exactly 23 can she buy? \% 1‘; @

H Zéta BéAeL va ayopaoel peptkd AouloUdia. O TLHEG TWV TPLWV AoUAoUSLWV TIou prmopst

va ayopdoel dailvovtal otnv €lkova. MNooca SladopeTIKA UMOUKETA LE CUVOALKO KOOTOG

okpLpwg 23 pmopei va ayopdosl;

A) 4 B)5 C)6 D)7 E)8 f ‘
(A) (B) (C) (D) (E) [3) [4] [5)

)]



